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QUESTION 1

A data scientist for a medical diagnostic testing company has developed a machine learning (ML) model to identify
patients who have a specific disease. The dataset that the scientist used to train the model is imbalanced. The dataset
contains a large number of healthy patients and only a small number of patients who have the disease. The model
should consider that patients who are incorrectly identified as positive for the disease will increase costs for the
company. 

Which metric will MOST accurately evaluate the performance of this model? 

A. Recall 

B. F1 score 

C. Accuracy 

D. Precision 

Correct Answer: D 

 

QUESTION 2

A company is using Amazon SageMaker to build a machine learning (ML) model to predict customer churn based on
customer call transcripts. Audio files from customer calls are located in an on-premises VoIP system that has petabytes
of recorded calls. The on-premises infrastructure has high-velocity networking and connects to the company\\'s AWS
infrastructure through a VPN connection over a 100 Mbps connection. 

The company has an algorithm for transcribing customer calls that requires GPUs for inference. The company wants to
store these transcriptions in an Amazon S3 bucket in the AWS Cloud for model development. 

Which solution should an ML specialist use to deliver the transcriptions to the S3 bucket as quickly as possible? 

A. Order and use an AWS Snowball Edge Compute Optimized device with an NVIDIA Tesla module to run the
transcription algorithm. Use AWS DataSync to send the resulting transcriptions to the transcription S3 bucket. 

B. Order and use an AWS Snowcone device with Amazon EC2 Inf1 instances to run the transcription algorithm. Use
AWS DataSync to send the resulting transcriptions to the transcription S3 bucket. 

C. Order and use AWS Outposts to run the transcription algorithm on GPU-based Amazon EC2 instances. Store the
resulting transcriptions in the transcription S3 bucket. 

D. Use AWS DataSync to ingest the audio files to Amazon S3. Create an AWS Lambda function to run the transcription
algorithm on the audio files when they are uploaded to Amazon S3. Configure the function to write the resulting
transcriptions to the transcription S3 bucket. 

Correct Answer: A 

 

QUESTION 3

A data scientist is evaluating a GluonTS on Amazon SageMaker DeepAR model. The evaluation metrics on the test set
indicate that the coverage score is 0.489 and 0.889 at the 0.5 and 0.9 quantiles, respectively. What can the data
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scientist reasonably conclude about the distributional forecast related to the test set? 

A. The coverage scores indicate that the distributional forecast is poorly calibrated. These scores should be
approximately equal to each other at all quantiles. 

B. The coverage scores indicate that the distributional forecast is poorly calibrated. These scores should peak at the
median and be lower at the tails. 

C. The coverage scores indicate that the distributional forecast is correctly calibrated. These scores should always fall
below the quantile itself. 

D. The coverage scores indicate that the distributional forecast is correctly calibrated. These scores should be
approximately equal to the quantile itself. 

Correct Answer: D 

 

QUESTION 4

An ecommerce company wants to update a production real-time machine learning (ML) recommendation engine API
that uses Amazon SageMaker. The company wants to release a new model but does not want to make changes to
applications that rely on the API. The company also wants to evaluate the performance of the new model in production
traffic before the company fully rolls out the new model to all users. 

Which solution will meet these requirements with the LEAST operational overhead? 

A. Create a new SageMaker endpoint for the new model. Configure an Application Load Balancer (ALB) to distribute
traffic between the old model and the new model. 

B. Modify the existing endpoint to use SageMaker production variants to distribute traffic between the old model and the
new model. 

C. Modify the existing endpoint to use SageMaker batch transform to distribute traffic between the old model and the
new model. 

D. Create a new SageMaker endpoint for the new model. Configure a Network Load Balancer (NLB) to distribute traffic
between the old model and the new model. 

Correct Answer: B 

 

QUESTION 5

A company has an ecommerce website with a product recommendation engine built in TensorFlow. The
recommendation engine endpoint is hosted by Amazon SageMaker. Three compute-optimized instances support the
expected peak load of the website. 

Response times on the product recommendation page are increasing at the beginning of each month. Some users are
encountering errors. The website receives the majority of its traffic between 8 AM and 6 PM on weekdays in a single
time zone. 

Which of the following options are the MOST effective in solving the issue while keeping costs to a minimum? (Choose
two.) 

A. Configure the endpoint to use Amazon Elastic Inference (EI) accelerators. 
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B. Create a new endpoint configuration with two production variants. 

C. Configure the endpoint to automatically scale with the InvocationsPerInstance metric. 

D. Deploy a second instance pool to support a blue/green deployment of models. 

E. Reconfigure the endpoint to use burstable instances. 

Correct Answer: AC 

https://aws.amazon.com/machine-learning/elastic-inference/ https://aws.amazon.com/blogs/machine-
learning/configuring-autoscaling-inference-endpoints-in-amazon-sagemaker/ 
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